Unsuccessful Top-down Parsing (2)
      P = A  (  aB         

(1)

          A  (  aC            
(2)

          B  (  aB            
(3)

          B  (  b             
(4)

          C  (  aC            
(5)

          C  (  c             
(6)

            Sentential form     aB            Input string     aaac 

Of the productions for  B  it is (3) which yields an initial a, so we apply it: 

            Sentential form     aB            Input string     aac 

which implies that we must be able to derive  ac  from  B.  We apply (1) again: 

            Sentential form     aB            Input string     ac 

which implies that we must be able to derive  c  directly from  B, which we cannot do. 

Either we cannot derive the string, or we made a wrong decision somewhere along the line.  
In this case we went wrong at the beginning.  Had we used production (2) and not (1) we should have matched the string quite easily.

